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L o PARTA—(IOxE 20 marks)
| 1 Denne Ehe telm FA S
' 2 8 »What are the ob;;ectwes of line compensatlon‘? _
3 Define the term_st_atlc VAR compen_sator_v (S_VC)._
4 What is the bost location for SVC?
B, | ; :'L1st the dlsadvantage of ﬁxed series compensatﬁm |
| 6 ::;'HOW is the vauatwn of capamtwe 1eactance achleved in TCSC‘? o
( .. . 7 '_ 'Llst the apphcatlon of STATCOM . . i
M‘Wh&tmeﬂmﬂrﬂamtmtmmgfmmwwwwwww
9, How is 0001 dination of FACTS contmllels carned out? : . e
10 _ 'Wmte the ass_umptmns of control coord_ma_t}qn,_fo_r damp;ng enhancemen.t.'
: PART B _ (5 x 13 = 65 mal‘ks)

11 T (a) 'Explam the uncompensated AC hne and derive the equation fm voltage
- and current variation in long AC transmission line, :

Or,

(b) Compale the rating of shunt compensator and series compensatm for
enhancement of power tr ansfer to AP :



-'-hne The te1mmal voltage of the- maohme is - 1 25°- an_c_l.mﬁmte bus -+

'.voltage is 1L_ The reactance of the t1anem1ss1on line is 0.75 pu. Find

“the gain of the damping controlle1 to enhance the dampmg ratio .

Z 0.1 pu..

- Assume damping due to oth_er sources are ze_ro. Lo
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12. . (a) Explain the transient stability enhancement of SMIB system w1t11 SVC
installed at midpoint of transmission line.
_ Or
L) D1aw the equivalent circuit and explam the steady state control
- - characteristics of SVC: '
13. {a) Draw and explain the different modes of operation of TCSC.
| Or
(M) Briefly explam the opelatmn and cha1actenst1cs of GCSC with neat
sketch. — - .. ' :
14 (a) Dlaw the schemat1c dzaglam of SSSC and explam its lole in t1 ansmission s
S "3"_'_'__-_'hne DD S : Lo o
by WIth a. neat sketch explam the 1mplementat10n of UPFC A
- 15. ! (a).: : -_Explam the contlollel mteractlone between mult1ple SVCS (SVC SVC) m. o
Ll a large powe1 system AT PR 3 . :
() Usmg ]mea1 contlol techmques explam the co oxdmatlon of multlple S R
R contlollels . : '
_ PART C— (1 X 15 =15 marks)
“ 16 . (a) COIISldel a synclnonous genelatm connected to mﬁmte bus Voltage at
A '_ ._1nf1mte bus is 1§ O . The synchlonous genelator del1vers 0.9 +. j 0.3 pu L
e '-_'MW and MVAR. A SVCis connected at m1dp0mt to regulate the m1dpo1nt o o
-~ voltage to 1.02 pu. Find the’ cuu‘ent that must. be injected “to- regulate R
'mldpomt voltage to 1.02° pu Tranem1ssmn hne reaotance 13 0. 65 pu
' '_ (b) Consxdel an SMIB system in which SSS5C is lnstalled at the nuddle of



